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Correct Answer :-
e 2500 hours [Option ID = 7273]

23) Assume that the constant failure rates of tires 1, 2, 3, and 4 of a car are A;= 0.00001 failures per hour, A; = 0.00002 failures per hour,
A3 = 0.00003 failures per hour, and A4 = 0.00004 failures per hour, respectively. For practical purposes, the car cannot be driven when
any one of the tires punctures. The system Mean Time to Failure of the car with respect to tires is

[Question ID = 1820]

1. 10050 hours [Option ID = 7278]
2. 9999 hours [Option ID = 7279]
3. none of these [Option ID = 7280]
4. 10000 hours [Option ID = 7277]

Correct Answer :-
e 10000 hours [Option ID = 7277]

24) If the i-th slack variable of the primal linear programming problem is not zero, then
[Question ID = 1794]

1. the j-th dual constraint is satisfied as an equality [Option ID = 7175]
2. the j-th dual variable is zero [Option ID = 7173]

3. the j-th dual variable may be zero [Option ID = 7174]

4. none of these [Option ID = 7176]

Correct Answer :-
« none of these [Option ID = 7176]

25) If the first phase of the two-phase Simplex method terminates with a non-zero objective function value, then
[Question ID = 1793]

1. the given linear programming problem may have optimal solution [Option ID = 7171]

2. the given linear programming problem is unbounded [Option ID = 7169]

3. the given linear programming problem is feasible [Option ID = 7170]

4. dual of the given linear programming problem is either unbounded or infeasible [Option ID = 7172]

Correct Answer :-
o dual of the given linear programming problem is either unbounded or infeasible [Option ID = 7172]

26) If there is a tie in the "minimum ratio test” of the Simplex method, then the solution in the next tableau
[Question ID = 1795]

. will be non-basic [Option ID = 7177]

. will have an inferior objective value [Option ID = 7179]
. will be degenerate [Option ID = 7180]

. will not be feasible [Option ID = 7178]

A WN =

Correct Answer :-
« will be degenerate [Option ID = 7180]

27) If total usage of the given item is 36000 units per year, the cost per order is Rs. 36, the costs of carrying inventory is 25% of the
investment in the inventories, and the unit cost is Rs. 10, then the optimal order cycle time is

[Question ID = 1814]

1. 1 year [Option ID = 7254]
2. 0.978 year [Option ID = 7255]
3. 0.894 year [Option ID = 7253]
4. 2 years [Option ID = 7256]

Correct Answer :-
e 0.894 year [Option ID = 7253]
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The local maximum of the function f(xy,%s,%3) = X3 + X1X5 + 25+ 3x3 — x7 —

2xZ — x2 occurs at
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